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qevias 629 AIF |

5, <@ ggog gaece fede faRd qéq suIRide
o | 300 6aIR PAG OR RIS a2 Qgeee
qe* 6. 7. AIQ. TE6A CAYR TR |

6 4@ giciee Age QU Qe 9e° gqa-ay 8
caglea §Ae ARa BR RIGER QB e@hag |
ge O g& aIq ce6Q Al Afe fe IRl
cooce aeY 4@ OR gEe PaIEeRoIq AgR

caq !

250 91 SRITIEER PI2IA SR 629 AF |
3. g% da 4R 99 G§R Qrd/arae eal/ae

2. Darken the circles iri the OMR sheet

9: Earkevhg twio or more circles completely/

4"Changing the darkened circle in any
5. This question booklet shall not be opened

6. The candidate should check the No. of

7. The examination shall be conducted as per

INSTRUCTIONSTOTHECANDIDATES

1. The admission to the examination is
provisional. In the event of any information
furnished by the candidate found false/
incorrect/incomplete detected at any
stage, the candidature shall be rejected.

compietely with Black/ Blue ball point pen
only. Partial darkening shall not be
evaluated.

Hally shall not be evaluated.

manner putting ‘x’ mark/using white
fluid/ erasing by rubber/blade etc. shall not
be evaluated.

until instructed. Write your Roll No.
correctly in this booklet as well as in the

OMR answer-sheet.

Printed Pages and Questions along with
their Serial Nos. In case of any discrepancy
found, exchange the defective one and
collect another correct one from the
invigilator within 5 (five) minutes and
thereafter no complaint shall be
entertained.
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Each question has four possible answers. Choose the correct answer from among them and
darken the appropriate circle completely in the OMR Sheet with Blue / Black ball point pen.

| dig Saie 6 FmiFRIe
[CHILD DEVELOPMENT & PEDAGOGY]

1. ‘@691 690@ adYa’a 909 QIR 6960 ? | 1.  What is the age range of ‘Sensory motor

period” according to Piaget ?
(A) 99 eeqd (A) 7to11 years
(B) ¥g9oed (B) 4to7 years
;. (©) 9qwed (C) 2to4 years
(D) g9 ¢.8 oF (D) Birth to 1.5 years

2. G619 g 60u FarP d84 aid GiIe@® | 2. Which of the following law gives

8 AIRAR 998 eaea g9Q &4 ? f emphasis on physical and mental
| preparedness for learning ?

(A) zewa faa | (A) Law of exercise

(B) €9g% Faa (B) Law of Readiness

(C) aigey faa (C) Law of Recency

(D) aoiae Fad (D) Law of Effect

3. P6qIo Aug 6odd ‘genad’ AN 68 ¢ | 3. Which one of the following is not a

‘projected’ media ?
(A) 6.3¢, 4. (A) OHP
(B) 88 (B) Picture
©) d9-§aq (C) Film-strips
(D) qieeq ' (D) Slides

@) (Continued)




QIoIEn NSO TMIRY 68860 gab Adee
QGQl QIf ced aegA Jg AILR! MR
QAAINE ?

(A) & 8g qam

(B) 9392 M

(C) NI IO

(D) <FIRS Mg 6MNEAT gex

Seen daid aeew 88l F76e 6ol IR
d4aeg 798 Fuaean ?

(A) Qe dsQ

(B) @8 48@

(C), uem 8a@

(D) Saa 48

Beqle cad cA8Q QU 6 aaieh €
Qi g |62 7

(A) € Ie1F 6§4IGE
(B) 6§61 aada 696QR
(€ R idien

(D) eRIead

FerIe RIY ceao §-aqaa §de dIOY
QUea8 T6e ?

(A) <18 QQIIG!

®) gode o

©€) @a s

(D) 9999

QIO CRRUIRY glecs 289q QI8 agea
cool God 2Ren 8o af0e BT ?

(A) uALe-aIe Bgsd
(B) QMa-QArEIaT agsee
(C) oon RSA

D) ¢rofe vgen

4.

Which grading point scale is used to
record the progress in other areas than
the curricular ?

(A) 5 point scale

(B) 7 point scale

(C) 3 point scale

(D) None of these

What type of teacher is appointed to teach
the disabled learners ?

(A) Resource Teacher

(B) Efficient Teacher

(C) Experienced Teacher

(D) Subject Teacher

Which of the following educational
provision is not related to talented
children ?

(A) Non-graded classroom

Which"ef the following is a three-
dimensional Aid ?

(A) Wall Black Board

(B) Display Board

(C) Sill Picture

(D) Model

Which of the sequence is appropriate
when development proceeds from the

centre tothe peripherial areas of the body ?
(A) Cephalo - Caudal Sequence

(B) Proximo distal Sequence

(C) Locomotion Sequence

(D) Bilateral Sequence
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10.

11.

12.

FR0R-IAR RUIARA FETIP 690 6AIRR
gQa zee ?

(A) Qeidy @Al 2QeQIdiR gRIeR
(B) g4 ag gaIr <@el

(C) dmige gadq a9 ael

(D) <AIRS Aug 6916AT Q6%

ceed TIeueald ZREgadIa 1! adIead
266 ?

(A) G9QEe!

(B) gad

(C) Qe’e
(D) RRIQ 88

agage 6ed aaé oqf aRae-2284 &
QAR QUIee *QUR 7

(A) €IQIG URSRR
(B) @eag - ga ase6
(C) Sagqe nQeRR
(D) ©8<d 834

codd aIgIa BReera RAd T6E 7

(A) <@ edae adigen

(B) <2 ag§al aRqe!

(©) TR ZYQ EQRIQE UCT

(D) <@ zgaie BUgA 980 #F6

9.

10.

11.

12.

SET -(D]

Which of the following is the basic

nature of Continuous Comprehensive

Assessment ?
(A) To declare pass or fail
(B) To give certificate

(C) To facilitate student’s progress

(D) None of these

Which one of the following is an example
of intrinsic motivation ?

(A) Competition

(B) Praise

(C) Rewards

(D) Level of aspiration

Which of the following learning theory is

stréngthening stimulus-response

(Ay " Classical conditioning
(B) Trial and Error learning
(C) Operant conditioning
(D) Insightful learning

Which one is the characteristics of
classical conditioning ?

(A) Itis stimulus oriented

(B) Itis response oriented

(C) Response is more voluntary

It is concerned with the sequence

of response

(D)

(4)
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13. '
3. Reqe 65:9:""5‘ ARQIRIER vee astal Fade | 13. Which one of the following is a monthly
000 SRR AR NTS NS AT ? Review exercise to monitor unit test on
regular basis at our state level ?
(A) e
(A) SAHA]
(B 20 () SAMADHAN
€) e (C) UNMESH
@) =l (D) SAMIKSHYA
14. SURGIG IR 608 UIRIEH calage e | 14 Which Article of the Indian Constitution
8 FRRIG AIRE AFAIFR A 8 A8 9IS provides protection to Scheduled Castes
cHISE §9 AR G AR SAUAIRE ? and Scheduled Tribes for Social Justice
and all forms of exploitation ?
(A) e -41 (A) Article - 41
(B) wiaI-45 (B) Article - 45
(C) IQI-46 (C) Article - 46
(D) Q- 343 (D) Article - 343
15. 56gI9 g 6R4T SAINIAR fon q6d ? 15.  Which of the following is not a Principle
of Teaching ?
(A) Qg FOR 2P 2eaa 629 | (A) Proceeding from simple to complex.
(B) @eeq 2aQ 299Q 626l (B) (Proceeding from near to far.
(C), §6e9q Sqe 219Q 298 629 | (C) Proceeding from complex to
abstract.
(D) <Igeq Sq6 29 YR eeql | (D) Proceeding from concrete to
abstract.
16. ©66I8 QAd @@ e g [R=leT geadin 16. Which of the following group of
Sonrae ande Q6% ? characteristics is mot related to creative
thinking ?
(A) 2RAIR @3, RGP 8 GARIAGI (A) Guessing, fluency and flexibility
(B) 6AIFq0l, BRELA 6 RAROS (B) Originality, fluency and flexibility
(C) agAR gasl, aentesl 6 2RO (C) Guessing, conventionality and
fluency
(D) 6MRael, Jaad 8 URARSI (D) Originality, elaboration and fluency
OTET/P-1
/ (5) (Continued)




17.

18.

19.

20.

21.

%-Sﬂa] 00806 dges a9 6o 0900
U §aQad ?

(A) <F saiewl

(B) eQlaea yeeia

(C). g6 QRide edia agase
(D) Q®a MeIQ

@79 6euF d84a 675e ad q6d ?

(A). 2eHIQ
(B) <eael
(C) QdeiGeqd
(D) Sauasu

6Qd QIF QI8 ANGe Q6L 7

(A) 42 QAEEIR F6% |

(B) <@ QAL UQI SRR A& |
(C) <R FAEER T6E |

(D) <2 9REAe a8 g8 |

6RR P4 QA QIUfie Sa6a FRea-
QAAGR FRUIAR QARIOISR ?

(A), RIT Act - 2005
(B) RCFCE Act - 2009
(C) REFCE Act - 2009
(D) <AIRS fIg 6MEdF g6L

6Qec 884 g8 980 ande Q69 7

QEQEY
AUIRANANTRO!
QUEARR
ga@a ziead

(A)
(B),

©
(D)

18.

19.

20.

21.

SET-@

17.  Which competency of the teacher is moye

important in case of multi-grade
situation ?

(A) Move planning

(B) Use of skills

(C) Maintenance of class order

(D) Use of Intelligence

Which one of the following is not a basic
condition of learning ?

(A) Practice

(B) Contiguity

(C) Generalisation

(D) Safety

Which one is not related to development ?
(A) It ismot cumulative.

(B) It follows pattern.

(€) Itis continuous.

(D) Itiis a product of Interaction.

Which Act has made the continuous
comprehensive assessment mandatory in
Elementary Classes ?

(A) RIT Act - 2005

(B) RCFCE Act - 2009

(C) REFCE Act - 2009

(D) None of these

Which one is not related to the process of
learning ?

(A) Purpose

(B) Continuous

(C) Adjustment

(D) Reflexive behaviour

OTET/P-I

(6)

(Continued)



cead AIrde urgda dae ARE E6e ?

SET -(D)

22.  Which one is a characteristics of mentally

22.
retarded child ?
(A) QAR aaael (A) Social incompetency
(B) QrIQG 6A8Q Qidy (B) Normal Intellectual functioning
(C) SHIS AUTIGY FRIE (C) Adequate language development
(D) @aeaI® aug 6A§aT g6¢ (D) None of the above
23. codo ArIces cTRe Sain Qe an@e ged ? | 23. Which one is not related to Piaget's
; Cognitive Development ?
(A) 2sg2d (A) Assimilation
(B) gGedIRe (B) Accommodation
€) daeead (C) Verification
(D) <QAYRIQI (D) Equilibration
4. €40 dleIae 68 QY QAR caeig giaig | 24. Physical energy which activates the
Falee @ane, el cea fIneR afiee : organism for action is known as :
(A) dgieaIaql (A) Drive
(B) <QeRIS ged (B) Instinct
(C) 2698 (C) Emotion
(D) 2KSSE! (D) Need
25. qauas 489 6eaC e Sele ol G@? |25, (Which.one of the following is different
from the other three from evaluation point
of view ?
(A) 99 eEiea AR (A) Rating scale
(B) 996 98 (B) Progress card
(C) QB oRe (C) Check-list
(D) aqiee! (D) Questionnaire
6. ‘au@edal’ aef 6ad gela daIw aig | 26. The term ‘myopia’ is associated with
Q§s 7 which category of children ?
(A) aiede 27999 (A) Mentally Retarded
(B) €94 QT (B) Hearing impaired
(C) Q8 Qe (C) Visually impaired
(D) ZieRdR qude (D) Emotionally disturbed

(7)
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27. AREYR 699 RAEP - €IRQA QIeI ARG

28.

29.

30.

cRIRelNg ?
(A) 6R0Q
(B) Q=@

(C) <@
(D) QIR

ATQS QA NLQ LRIAINYD AR
QId@ gReeR aBe 6edd @°ge g6¢ ?

(A) ‘@ <@l
(B) ‘uSeR’ @R
(C) ‘eder
(D) ‘QeQige @Rel

aeeal QANISLIER coe cF6e Uoad

aGdge 29 AIF ?
(A) INMLER @10 6 faa AR |

gaee AIeg aRIe gade @aQl |

(B)
saqie ag abe aae 2ae QGal |

(©)
(D) @e-AIBIS 6 aIgel |

f6ql9 694F d@id1-6F8Q 491 QA6

2GS ?
(A) dmidia aILaAIRe, aieely 6 2IgR |

(B) dde<a 44199 J8I919 QUER
asidia 896 Feia @62 |

(€) @se aga @& ds1eh Fa8a 212G |

D) dmidi AIee aid FIEe Ao
2 |

SET—@

7. Which trait of human being is determined

28.

29.

30.

ll@

by heredity ?

(A) Moral

(B) Temperament
(C) Intelligence
(D) Social

Which is not related to positive verbal

reinforcement skill being used by the

teacher ?

(A) Saying ‘Yes

(B) Saying ‘Very Good’
(C) ‘Smiling’

(D) Saying “Excellent’

Which moral behaviour is not found
during late-childhood stage ?

(A) Abidingrules and regulations of the
school.

Showing respect to elders.
Establishing relation with opposite

sex.
Carrying out the instructions of

®

(D)
parents.

Which of the following is based on

Learners-centred education ?

(A) Needs, abilities and interest of the
learner.

(B) Learning of the learner depends

upon the qualitative teaching of

teacher.

Teacher remains active and learner

remains passive.

There is prescribed curriculum for

the learners.

©

(D)
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(M.LL. (ODIA)]

UQERAT QIR BqAwe gq9eea (g9 «° 31
§ & 35 adye) eeq 3 :

4oIga AAIFR MR @9l 8 °YFQ
dIge QYNNI 6A0IRIQ AARIAT QAIRIKY QAER
Feaae q6¢ | arade 8 ARYIAe 69968
6RARRIGT YEOFIR AT YONFER AIQ A |
e 99 AT IR AR U6AA
69Q0QIN PR ACANIFE AR VACAITT | 61FR
QRAQ FAYFAR T TGR, TA 99 AB6 6aIS4l
QB2 64, 6AT QAAC QF QYA LINVID M
6QQQAIGT QAQIAY 8 SRl geq HFar | AT
gaIQ AIS 9NITER 648 AN AIRIAY G 28l
Quad qF, QIed dIRIGY CARIAEANER ALITER
16 PRIed 69 ARI 2268A FARIR AIGE! AR
QISR | 2EEHER 98I AAIFR AA0REE ARG
29680Q Q601 QYS! UEAARIR gloa ealee
9@1@1 | 6Q €0aQ QESIA M 9 AHS 68 TG
Qed a3 | 6QRIGFER 2IR AFQ 0 99 AINIER
geoie @89l caga aIaAIR cRIfl QAfIe AL,
QRa6a, F6R2I YOALER IaIA @608 FReIR
Q% 6 aaseRIg FAad QaQ| 9RaA 2gIada 6
@0qa Ad 9°9¢ @A6a AARIN QeaqQ @dl
caad | zdelBea AIFR AnIP 6a08 goaRaIR,
@9l 6 96 IQAER 69Q AN caBad gecaR |

31, @368 gaRad JIAUTER AN AW
2@ ?

(A) 699l AIRGR
(B) <aeal LUR
(C) 6eEsaIsl AR

(D) Qr]Ee A0

32. 6QQ 6986 aide anea goal 88 ?

33.

35.

(A) @RI 620
(B) QF 6 s
(C) QRIER 260N
(D) ude®

oad g6 QIRIERd gQIf ARR! 2R 6QIR
Q29! AgIe QIRIGSS ca@ MQEIR 9eR!
fex ?

(A) QIQER Fang Faad eAel AR |
(B) QUSRS SRS AAAAA |
(©) aiel 63013 °F a3 /R I

(D) QIFIAE 6QOQ HIER 69IQ ZYRIR
Qe 1

6Q6 "6Rg 6a 692aRIal 9699l 64aIg
g@azg-sg. dTRel 62YAQ FeR?

(A) Qrade 6 ARMIAR
(B) dme

€ <l

(D) zele1®

Q°q@ g ax qgalgsa QAR GIGIEI’-IQ
29 Q IaN P17 QRS ?

(A) 918 ucasl SAIQ 9Qa9Iq
(B) QOQIR! AN g ARG
(©) < GR9Q U8 AAY

(D) QOQIQ! 2TCATR LG AQIQ
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sou 90 AES Q8 SR ?

7 9ea elerad aioed eee cuawyel a9 | 37-
(¢ 36q o 40) g5eR 99 694 : (A) Qrieel aid
R 6a g8 amaRe cusiay, () goeald ad
9 9R ARG 08 6e6e Qa 98 6 286Q | © <oQ 9odf G'G:
21a 9%, gQQ Ze1Q A 62 214, (D) Qg Jg@ 9
QI6e Aer 510 0B i caeeeal 6a 9B2IA |
6ONIQ Tece eeRl id, « a9 geR 4asI 6a | 38, ©F CHIRIA CAIATAT oA ARA0Y gloy
Qlén QIvad 7
AUTRI 6050 Ina AN, (A) |F QIR
| R 6a0% 68189 BN, (B) &%l
a8 « @8 QriIrel al Qe GF wied 69, (C) <qsan o
40 69 398 arate cuINIgP | (D) @aeel
4 6 BgF QIRnIta cuINIeg, L
QQE1 GIRIP 969 969 969 GRF CeeP PUIF; 39. (@2 919 (P8 ILAJON VM FWNY6R?
219 98%, 998 21g TIAER 2T, o -
@I0 BgIa 9RaAI 12 F18 BRR6e 908 FId | LA
6a0e 4 Q1P &9l 69 @F © aee
2186a JQIc 2SIl 9F, (D) ae
papony; sl 40. QR Jgrea 6Pz R18 Fad Fgae W
QIR AAER ANIR 'FIQIQ,‘ oo caas 7
g gaN @ Ig6n Fgqaw 591 SPge | 05 na
99 60 Fg8 ARnce caNIaP | ®) gee
36. cus AIFQ QUGS RUCACAA T QTS (C) zacicea
cRes 7 (D) eoege’
(A) cuIfIa aRIFY AT 2YQ 9eg
6210q91Q ) 41. ‘29 2Q 689’ ofca cod aoe aede
(B) GHISIQ QAISAIEH F6ai2 XAYIQ UCRAL GRITIGE ?
(C) 6aISIa AIRLAIEE AR casald (A) QI aoe geier
gm:ﬁ CORYRIY (B) a® aor gaig
(D) :g:;;@lalﬂlgl dQ6Qee aye © 8 gaier
_ : (D) ee efie asd o
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42. OQ F¢R QIR R
je QR Q6 ANe 2 QT 7 | 46. glafic 2ase ceRd AIGAITI IR QN
(A) <98 wual geaid aId Qe g8 Qe ?
(B) NGRE BIEQ OF (A) QIO ged 8 QIe geid 498 F
QAR
C = &
(C) eeiae Sae 3918 (B) MQUEQ HIRM RA6A §9Q IR
(D) Que zeMQ QRaId gears eqel
(© 4§96, Qae, 9op 6 Sue 49 oF
QAIQe!
43, ] 3 *
Gﬁﬁ:;i QAP QUG I8 AN 688 Qidy (D) AIa GEGFen 018 AIee!
(A) Oe9IRg so Ieal ais sgesiseal | 47 ‘eu8l’ aea fouIgE @'a?
(B) ag Q9IS ¢a 2964 Al 6 () @<
6RQ (B) </
(€) utagl JQIS I gea el @aQl 8 Zm
(D) @8 99 60HIA 6a I8A6R e g
aQie 69ql 46. ‘opqpdl’ mEsR 6o QT HeRE 9 7
(A) zdul SR adal
4. cAla GIG0IER §4IQ 9F - 6euIRe aed (B) G844 EASIRC
cee gele aNa ? (©) eQIQI0 OFER
(D) aeca el
(A) Q6QIRR
(B) "e39°% 49. €94t edigh Faicadn aaia g6L ?
(©) QIPERIV (A) @RI CaQ
(D) QR (B) g9 Que
(€ goqd eciea
45. eReISl AAAIGR QGQIaIS 699 996aa (D) <8 Que
geena gee ?
(A) Geia geq QIEI] S6as! 50. 6960 ‘Qfey’ 400 g]F geia ?
B Gema 0i01ged 999 (A) 9'?9 +a
(B) o8Q +Q
(€) usdeel Kol Q7 © qe+8
(D) zESQ QUSRE 8A6R 9% (D) |8 +8
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" 54.

©als

55.
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6Qdl QAT goasise aeia qea aIiea | 56.
Qe cRINAIER 91T ? (a) TR 604 a9 CHIRa
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(B) @@ (C) @6 QAR IR Gog)
© & oiGQl gge @ael
D) 2@ (D) FoRIOEEARID I2 6QG
QIQY caTca cod Oy euege caeae 7 | 7 g:}::;‘:ﬁg;‘;;g‘:: ;:"‘6;‘;'99&
(A) e
(B) 999ee@ (h). nee o
(B) QuI8qRe 99
(C) caae (©) aouaey gf
(D) @9eaq (D) @8R AGRIRAR A9Q 89
200 @ 980 290 - AR LA BIFIT | o o0 G000 aay @'d 7
(A) 289827 QY BRUSRS (A) e0d HIFQ UGQE
(B) Q@e6q 9GS (B) 6% 6@ 9866
() (z@meiq 8a 6 _ , (©) AISIge 654 21a8
colad aidy fda @d raigal ;L|| D) ueegd
cod ainuIgt Sease 9q G089 ? 59. 6@66 g4y aeq goae ¢ ?
" (A) @eeeQ (A) <Rel
@B 68l (B) Q1aQ
(c) 6989 (C) aReg
.grp) QeeaQl (D) Q{eQIf
code ‘Aama’ 990 SANIP 8@ 7 60. ‘QAE’ - R 60F Q@ ?
(A) 989 (A) Qeq
(B) = (B) &ai
() 9q=9 (©) Seasy
(D) QIER (D) Qeaaq .
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SO E Fuffie el (o . 31 R
35) O® TS|

R Rl ied S cea afefrs;
YRR 5 Rett a8 Pree 7a; 2 @3l ge
wi-oifia | e e sifiai 2o fee <&t et
TR % I8 ARRIGR Sreefe 2231 o3 it
R crrrf s’ 9} Reglere o3fts @ A
o R qeehere e ©E [/ @<
2157 @ WA RfERT 2T SO T - 43S,
qE 8 ©oRM «R R otel fifemt SigR woneR
seopefet | TS STremBrefe SoRICH
frers weR st fRime 398 o= T4H (R
ofeTe Fereset XS aigfs @ PR RIS, TS
1 e SEeiR e, R T o 2efse
RrgteE @} fov TeiE PR e GE
i | 5 o P2 @ $eT0 Pe,
SRISIRE SRR Sl STeE SIS Al 2281 ¢
i JRITS AR | AR I IR T
opefora 2iRs 1 ST SR, G PferR T R
e R Si | '

31. e R e 2fsfs 7

(A) ﬂﬁ‘[@,wmm
(B) SRR @ SOER T

33.

34.

eIy 3P (R Prst avm @ Rard
NS ERkER, T G TS IS
M @ 7

(A) TSl IR @ICT BRAL AT IR

(B) TR (@mrIGE s @I SR Al
A

(©) wrPifas afs ol g Il
(D) T 2bfers Prest +Pafsrs STeRs AP

AREAIRA Sele @ feaft Fer feE
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(L-ENGLISH
61. I can play very well. 65. The doctor came after
(A) aviolin (A) the patient had died
(B) an violin (B) the patient died
(C) violin (C) the patient was died
(D) the violin (D) the patient was dying
62. He arrived here after walk. | 66. made the study of English
language compulsory in India.
(A) five minutes’
(A) Kothari Commission
(B) five-minutes
(B) Wood's Despatch
(C) a five - minutes
(C) Macaulay’s Minutes
(D) five minute :
(D) Sergeant Report
63. She gave her child a toy.
67/ The phonetic transcription of the word
(A) blue plastic Japanese ‘duty’ is _
(B) blue Japanese plastic (Ay | /djuti/
(C) plastic blue Japanese (B) /dju:ti/
(D) Japanese plastic blue (C) /djutiz/
(D) /duti/
64. State which of the following is
grammatically acceptable.
’ . 68. We drive f;
(A) What do you do at this moment ? of time. ve fast as we have plenty
(B) What are you doing at this (A) needn’t
moment ?
o ; (B) mustn’t
(C) What will you do at this moment ?
. C
(D) What have you done at this (& onnmol
moment ? (D) couldn’t
OTET/P-1
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69. is most essential for creative | 73. Deficiency in a learner can be taken care
writing. of through .
(A) Idea (A) regular teaching
(8) Language (B) self-study
(€} Emaginafion (C) proper explanation
F
E): Bamey (D) remedial teaching
70. State which of the following is ;
grammatically acceptable. 74. When a part of the word is spoken
emphatically, it is called
(A) No sooner the game had started
than it began to rain. (A) a pause
(B) No sooner had the game started (B) stress
when it began to rain.
intonati
(C) No sooner had the game started W intpoetiEn
than it began to rain. (D) pronunciation
(D) No sooner the game started than it
began to rain.
75. We have been staying here
2016,
71. Poetry is primarily oriented for o . (A) for
(A) comprehension (ﬁ)l s-vi -
ocabulary enrichment
o = (©) since
(C) appreciation O) i
in
(D) linguistic skills
76. Continuous comprehensive evaluation
72. When rules of language are learnt from a emphasises evaluation.
life situation, it refers to grammar.
A
(A) Functional (A)  process
(B) Formal (B) product
(C) Descriptive (C) term end
(D) Traditional (D) formation
OTET/P-1. (30) (Contitmed)
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;I'he' aim of teaching English language is | Read the passage given below and answer
% qeguire T '| the questions that follow choosing the correct
(A) the knowledge of grammar alternatives.
(B) vocabulary Twenty years ago, Kamalpur village was
backward and neglected. There was no supply
(C) the knowledge of sentences of drinking water and the villagers washed
(D) language skills ' their cattle in the only pond. There was no
hospital or school and no electricity either.
Today Kamalpur is electrified and a
78. Which of the following' sentences is | mobile dispensary visits it every week. A
correctly punctuated ? primary school is housed in a stone building.
(A) She said to her son Are you Drinking water is on tap. There will soon bea
hungry ? branch of the State Bank of India in the village,
is wi great boon to the farmers.
(B) She said to her son, Are you and this will be ol o .oon o. ¢ armdﬂs
hungry ? Loans for farming operations will be readily
available and the grip of the moneylender on
(C) She said to her son, “are you [ w. crmers will be loosened.
hungry 7"
(D) She said to her son, “Are you 81, The phrase “the grip of the moneylender’
hungry 7” suggests the moneylender’s
farmers.
(A) kindness towards
79. hinders the process of /(L = (B)| | jealousy towards
comprehension while reading silently. “ (©) " financial control over
(D) intolerance of
(A) Eye-span
(B) Sub-vocalization 82, Which will be a great boon to the
farmers ?
(C) Scanning (A) Electricity
. - (B) A mobile dispensary
(D) Finger pointing (©) Aprinmsysctiool
(D) A branch of the State Bank of India
80. He was accused theft. | 83. The passage is mainly about the
(A) with Kamalpur.
(A) backwardness
(B) of (B) happy and bright changes that have
C fo come over
(C) lor (C) farmers of
(D) at (D) supply of drinking water in
(31) (Continued)
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What was Kamalpur like twenty years
~ago?
(A) It was a model village.

(B) It was backward and neglected.
(C) It was backward but clean.

(D) It was fully electrified.

85. Kamalpur had

(A) apond

(B) two ponds
(C) no ponds
(D) three ponds

Read the passage carefully and answer the
questions (Q. Nos. 86 to 90) that follow
choosing the correct alternatives given :

There is some truth in the common saying
that while dogs become attached to persons,
cats are generally attached to places. A dog
will follow his master anywhere, but a cat keeps

. to the house it is used to; and even when the
house changes hand, the cat will remain there,
so long as itis kindly treated by the new owmers.
A cat does not seem to be capable of the
personal devotion often shown by a dog. It
thinks most of its own comfort, and its love is
only cupboard love. A German philosopher has
rightly said thata catis tolerable till itis a kitten.
But a dog is faithful to its master till death.

86. Which of the following is true ?
(A) A cat has its personal devotion to
its master.
(B) A cat thinks most of its own
comfort.
(C) A dog does not have its personal
devotion to anybody.

(D) A dog is tolerable till it is a puppy.

89.

90.

SET -(D)

87. Which of the following is true ?
(A)

Dogs and cats are attached_f' to
people in the same manner.

A cat follows its master anywhere,

A dog is always attached to the
house of the master.

(B)
©

(D) A dog follows its master anywhere.

According to the German philosopher

(A) adog is always faithful.

(B) a catis always faithful

(C) a dog is faithful till the master is
kind to it.

a cat is never tolerable.

D)

A cat's ‘love is only cupboard Iove’. It
means n

(A)._A cat does not carry any love.
(B)(A cat's love is only outward.
(C) A cat loves its master secretly.

(D)

A cat has genuine love for

everybody.

When the owner of the house is changed
the cat .

(A) remains attached to the house as

remains attached till the new owner
treats it kindly
follows the old master

follows the new master as long as
the master lives there

(B)

©
(D)

JOTET/P-1

(32)

(Continued)



g T SET -(D)

(6§ / MATHEMATICS)

91, 98e JVQIRA 6RE URGT QISR QY | 91. Which method of teaching Mathematics
9Q QIF QUGS 2°E ARIER AR FIAR 9B establishes relationship among the
42l QARIL Qe ? " constituent parts by breaking up a
: mathematical problem for its solution ?
(A) eI Q&% (A) Inductive Method
(B), Q62! 9!S (B) Deductive Method
(C) Qeqae 9ad (C) Analytic Method
(D) <eqguda aae (D) Synthetic Method

92. €4 6wlad 980 gAF QAER AYEPAIGR | 92. Which one of the given factor is not

QXY IRNIE ANEER gea FAX AR considered  while  formulating
AdQ 69NS] G619 Qe FIZ 7 instructional objectives for any topic in
Mathematics ?
(A) @9l Qe S99Q 999 "~ (A) Nature of the teaching subject
(B), sl QISR AILGUNS! 8 AIgD (B) Need and interest of learners
(C) QAxa Yaniel . (C) .- Availability of Resources
(D) UFR AURMCHER 24 (D) Political Ideology of the Nation
93. @@ 0BQeR, ABCDUR 6QR | S8R 7619 | 93, In the given figure, ABCD is a
oF AIRE AuQ 676C OR 7 quadrilateral. From the figure, which of
'. the following statements is true ?
A p b o Gl
|
BQ | Q
h C B .

(A) AB+BC+CD+AD=2AC (A) AB+BC+CD+AD=2AC
(B) AB+BC+CD+AD < 2AC . (B) AB+BC+CD+AD < 2AC
(C) AB+BC+CD+AD > 2AC | (C) AB+BC+CD+AD > 2AC
(D) <aies aug 6MadE g6 ; (D) None of these

o @8y 919 QIR / SPACE FOR ROUGH WORK
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94, TP CES IR QRTRR ¢ 7

(A) Guad ewe
(B) 6IRQQ 661G
(O QUG IASR SR 6RIRE,

71 (D) QId 6RIeR

95, G6Q g9l AQIAER VY AT 696 ?

1,3,7,15, 31

95.

SET-(D)

- 94. 'Which of the following is not a

polyhedron ? | o
(A) Match box

(B) Cap of a joker

(C) Road roler

(D) Water bottle

What is the sixth number in thesequeme

given below ?

1,3,7,15 31

(A) 65 (A 65
' (®), 63 (B) 63
© 55 ©) 55
(D) 53 (D) 53
o @idy a9 91! / SPACE FOR ROUGH WORK
OTET/P-I (34) (Continued)
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70+
60+

40 60 80 100
géie aaaIa fAQ —

0 2
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e 98 @ 69d 79 999 ean 28,

60 @ 80 a€Ys FAR QYS! S QeI
608 9Aa agael Aais aEiad ge ?

96.

2

W
N

-
8
S
2
2
%

—
5 8

/

//

See the diagram and answer the following
question.

The number of students securing marks
60 - 80 is 4 times of the number of

| ‘students securing which mark ?
(A) 0-20 | a)"0-%
® A-4 (B) 20-40
(C) 40-60 N——
o, (0) 80-100

a@ @Idu aif gie / SPACE FOR ROUGH WORK
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97. 4Q1Qe 6Q.7. 920 GRR 19IA 9, 6869 | 97. What is the weight of 3.5 KL of water i,

3.5 GERINCR RNA 687 6R6E. FEAIFIA kilograms, if weight of 1 cucm of water
6297 . 1gm?
(A) 35 ' (A) 35
(B) 350 ‘ | (B) 350
(©) 3500 | (C) 3500
(D) 35000 | (D) 35000
98, Q0F |AQ Qg YR Q:AlG 696 7 98. What is the LCM of two consecutive odd
numbers ?
(A) Qeea ugq @a (A) The greater odd number
(B) R2ea agq e (B) The smaller odd number
(C) _ugq o Qaa gaae (C) Product of two odd numbers
(D) 299 el Q9 6AIITR (D) Sum of two odd numbers

99. 2061 60R396 Q4 415§ cardaq &g | 99.

if the cost price of 20 pencils is equal to
R4 QRAAIF 626R, d0QRC!I 6REE QIR

the selling price of 15 pencils, then what

629 ? ': : isyprofit percent ?
(A) 38 At sl
(B) 33%% | (B) 33%%
(© .33%% (©) 33%%
@) 3% ©) 3%

g @14 919 gIR / SPACE FOR ROUGH WORK
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100.

y o

@ 696RdQ ALl U Q U9 IQRER g4

. 969, 919 37D 6RAS AT AR 6897

101.

(A) 0.00032 Qi
(B) 0.0032 gig
(C) 0.0028 QI

(D) 0.00028 Qe

Qa0 J9QQ GREC 6RI4 6989 FAg 6L
ag% adal asy gee ?

(A) 6QAIEER 6AIT a1 T &
(B)
©

D)

CARIRGR ETIG Akl QI
CRAMPRE ZIGERE 9 28T

6 6916 GO B8 QAR .

cad Qg 6aIEN QAR — 64, 6Q AR

SET-(D

100. The time interval of one second in hour

101.

unit is equal to which of the following ?
(A) 0.00032 approximately

(B) 0.0032 approximately

(C) 0.0028 approximately

(D) 0.00028 approximately

Which of the following statements in
respect of a pair of adjacent angles is not
always true ?

(A) They have a common vertex
(B) They have a common arm

(C) Their interiors are not intersecting

- (D) Their measures are equal

102) What is the cube root of the number

o aRfe 6@6Q ? which has —64 as a square root of it ?
(A) 8 (A) 8
(B) 16 (B) 16
() 32 (©) 32
(D) 64 . (D) 64
o @idy aidf @i9 / SPACE FOR ROUGH WORK
OTET/P-1 (37)
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103. €qIEd SQuieaq Amidl AIes AUQ @8R | 103. The table shows the number of Studen,
cugae A area a°@i #d AAENER of a school who play different sam

QaiQIQE.

-‘-%
QIE]E Volley| . |Baske
cae | goen [efen| Geeg Game |Football| ", |Cricket bl
o)
e |
daneit No. of
50 | 48 | 60 | 22 de5° 48 | 60 | 2
QY| Studen

°R AQHIR FANG U@ ANLIGER FHIRER When the data shown in the table aboye

AR 6HRIT AW LIRS YRIRIQ is presented in a pie chart, what will pe

6RRIA 6QIE TTAIE 6R6E 6297 the measure of the central angle of the

‘ sector representing the students playing
Volley Ball ?
. (A) 48° (A) 48°

(B) 56° (B) 56°

(©) 88 (C) 88°

(D) - 96° (D) 96°

104. 8@ GI0Q AGG NEAEY RERS KRR EFAS | 104. Which is the correct form of stating

Q0R QUERs 265 ? specific objectives in Mathematics ?

(A) «udfe uQ8 Qasa daiEalce (A) Pupils develop understanding on
EQRISQR TRIE FRAIBE Mathematical concepts.

(B) <QIETR ANFAE FIRSR A8E CIfeR (B) Pupils describe relationship
gel and dmiai aes egel between two sides of Mathematical
QOIRER | . equations,

(C) <die dna daea dalai qIes AIgea (C) Pupils develop interest in learning
QRIE RRAIRES | Mathematics.

(D) @ﬂl&iﬂlef a@@q AIRdI QAR BIF (D) Pupils acquire knowledge on
21206 *6 QIF6S | Mathematical concepts.

Q@ QIdY QI QIR / SPACE FOR ROUGH WORK
OTET/P-1 (38) (Continued)
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106.

-y
1

Q¢Rqe gqqes

26e 7 e
(A) ST goIe IR
(B) 9% 2ua eg adaa

(€) SgiGe Sea g adae

(D) 988 99IRe WIaee

®19% 10.25 4. am. GQQIIA 2ATY AR,
QIceq agBQl AR GIq Q. 1.40 Aee ana
RSN | ACER FERE KA QIS . 2.30 Al
QG QAUTR | Y TS 696R UTER
@. 210 f | QY RITR ELEQ 69 66E
6Q6R Acq avdal ?

Q 6R9F FdiIoe age.

SET -(b)

105. Which is the criterion of objective type test

106.

items ?

(A) Scoring is subjective
(ﬁ) Less content coverage
(C) Wide content coverage

(D) Answer is extensive

Jeeban left his house for the market at
10 hr. 25 min. am. He took 1 hr. 40 min.
to reach the market and for purchase of
materials he took 2 hr. 30 min. While
coming back home he took 2 hr. 10 min.
on the way. Atwhat time he arrived back

at home ?

(A) 3.25 p.m. (A) 3.25pm.
(B) 4.45 p.m. (B) 4.45 pm.
(€) 5.25 p.m. (C) 525 pam.
(D) 645 p.m. (D) 645 pam.

OTET/P-I

(39)
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107! S86 CI06] SOMFR FRNIGRR VER'R'E 7

108.

109.

ol

(A) dmal aeee cdlay dse _aq_ﬁul
Aeq 5% *AQ! -

(B) dmal Airse g dna agiy gég
o%¢ eae!

(©) dmial AIRSS g6ed 2908 gag 99
Qaal "

(D) @migi Airea 919 384 agRy 9o
feie aal

PO 60 CHRER 69BN AIg gaa ol
287?

(A) 0e 9g
B) <Aig 898
© <@

(D) zd 9@

géie dI9IR6a 2TEAIR Tada eQ
QR IR 698 TG ARG QIR ?

(A) FRWEQ 8IS S} AFYAQ 62!
(B) RISQ M 2] AYAQ 629
(C) REgQ AR iG] AFAR 634
(D) Qrieaq Fig 21eq A9 624

SET -@
' 107. What is the purpose of formatjy,
evaluation in Mathematics ?

(A) Identification of miinor learnjy, g
difficulties of students

(B) Identification of major learning
difficulties of students

(C) Identification of entry behaviour of
students

(D) Diagnose the severe learning
difficulties of students

108. In which of the following cases only one
line of symmetry exists ?

(A) Rectangle

(B) Equilateral triangle
(C) Circle
(D) Semi circle

109."Which principle is followed in the use of
deductive method in

teaching
Mathematics ?

(A) Proceeds from unknown to known
(B) Proceeds from known to unknown

(C) Proceeds from particular to general
(D) Proceeds from general to particular

o SIdY QI @I / SPACE FOR ROUGH WORK
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111.

"'A96Q g3 geel aeuea I a8e 9o
Qe - G weIg GRaCR 7

(Aa)
(B)
©
(D)

RRle
sainIg
QR
V9K,

1,2,4,7,% 16, 22 qey| 76Q LI0Q! 9%
HIf6Q 60Q I auiT ode 7

SET -(D)

110. “Mathematics is a way to settle in the

111.

mind a habit of Reasoning” - who said
it?

(A) Kelvin
(B) Thomas
(C) Locke
(D) Bacon

What number will be placed in the
position shown by the star mark of the
sequence of numbers 1, 2,4, 7, *, 16, 22 ?

(A) 8 (A) 8
B) 11 (B) 11
© 12 © 12
(D) 15 (D) 15
112. AABC6Q2m/A=3m<B=6msCe6a |-112. Ifin AABC, 2m/A=3 msB=6 msC,
mZA @ agqIé €Q6e ? then what is m£A equal to ?
(A) 30° (A) 30°
(B) 45° (B) 45°
(C) 60° (C) (60%
(D) 90° (D) 9%0°
113. 980 €190 69 IS Q9 89 8 | 113. Which branch of Mathematics teaches
gIqGe qarer Juaca 38l eaqa 7 Logical thinking and natural design ?
(A) Q1eaEe (A) Algebra
(B) SNIAGR (B) Ge"‘“ehy
©) afede (C) Arithmetic
(D) Ge@iafie (D) Trigonometry
e <idi ai @9 / SPACE FOR ROUGH WORK
OTET/P-1 (Continued)
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114. @@ 9g6n 6qIGN o4 98¢ 66 2100 3g6a: |, 114. In the given figure, @ square hag peg,

s

aa6ae *RUAIRE | AT e Te gada divided into two rectangles, If thg sum
aRQIFIR AN 54 6.7, g4, 6962 96 Tga of the perimeters of the two rectangles i
oednl eaee 4.8, 7 54 cm, then what is the perimeter of

square in cm ?

(A) 40 . (A) 40
(B) 36 (B) 36
€ 32 (C) 32
(D) 28 (D) 28

115. 109.208. am 093 €. 158. pm. A8 | 115. What is fhe fime interval from 10 hr. 20
QNG 2SR UG IGRR ER6S ? min. a.m. to 3 hr. 15 min. p.m. in hour

. unit ?
@ 13 TUUG =
® 25 e 2
© 35 © 3
® 45 ® 4

o IdY a1 QIR / SPACE FOR ROUGH WORK i
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117.

8% ednie Qag 6 g

PRIRQ 15 od qda eaae ey oo 2

(A) 5
(B) 12
© 10

(D) 15

€IS §a eQleq g4l 115 fica calda
€ORNQ 2.5 ACA A9 1N ST 62Rl | 299
6ORQ 225 ml €A QTS A QS
IS 2TFIER 6960IT YT 9 IS :

116.

117.

SET -(D)

The present age of Ravi is 18 years, his
elder brother is 5 years older than him.
What is the difference between the
present age of Ravi and the age of his
brother 15 years ago ?

(A) 5
(B) 12

© 10

(D) 15

From a tin jar containing 11.5 litre
mustard oil, 2.5 litre of oil is used for the
house. For keeping the remaining oil in
plastic jars of capacity 225 ml how many

jat$ are required in the minimum ?
(a) 30 (A) 30
®) 40 | ® 40
© 45 (C) 45
D) 50 (D) 50

ae @iy €Il gIR / SPACE FOR ROUGH WORK

OTET/P-1
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ils goReiel §AICIR 61898 6QS QM@ | 118. Which is not a characteristics of

Q6% ? constructivist teaching strategies ?
(a) dsiel ARee R4 28 ged (A) Active involvement of leamners
(B) <6eIRe AFEad (B) Democratic environment

(€ Qi goQ AueR QIegae Fal " (C) Interaction among activities
(D) HGae QY 68+ ; (D) Individual working style

119. % Q 6AIGIAR F6QIA1 8 GERIAR F6AMA | 119. What is the product of the additive

3
qaae eaee ? inverse and multiplicative inverse of 7 ?
(A) 0 . (A) ©
® 1 ® 1
© -1 € -1
(D) 3 (D) 3

120. gEQIQIR G981 QARR AEREY Q6 7 420. What is the purpose of remedial

| teaching ?

(A) dmiEi Aree §F qeIeas JBRIER. ! (A)sHelp students to overcome their
QY QG learning difficulties

(B) 691 g2 aGeierica F9QSQ @80 (B)  Help teachers to develop proficiency
Q& @Gl in class-room management

© daei aece daa agdy 0Q &6 (C) Help teachers to record learning
R QAQIQ difficulties of students

(D) QuIe §8eq Aq8 *EIAIE sgen (D) Help teachers to take extra classes
RdeoIg 2ye 38 QIe ¢ael

for satisfying the Headmaster
@@, QIg4 QI 919 / SPACE FOR ROUGH WORK

OTET/P-1 (44) (Continued)



121. soda-g aﬁWﬂ@mm ENVIRONMENTAL SCIENCE )

122,

123.

(A)
(B)
©
(D)

SET ¥ (p)

@ 95910 Aay geg9
di2ea egqQige

ZAYIER ART

agial 5&q

dIel a8

ae2Q SRR Face gede gace 6ol
A8e T AR QO6RIGN ZeT?

(A)
(B)
(®)
(D)

(i

QQYeesa
gede
Qg QaQ

aag

Qdql Qasia 88 926 *4 g9 Ra
QUEA QgaRIQ W0IE] 6g TRRER
a6g'| ;

gelg gee @8, g9 ¢ AuR 92
QA @F F1UeR Qe |

geIed ge 1eia Us QIeaes agag
qe aIeq 96 |

Qacalg P6RIT @8 AU :

(A)

(i) 6 (i) 09 <" (i) AN

B (i) @ (i) 09 < () &
(© (i) 6 ()8R 9" (@09
(D) (i) @ (i) 89 4 () 08

121. Which is not the aim of first-aid ?
(A) Pain relief of the injured

122,

123.

(B)
©

Improvement in condition

Temporary treatment

(D) Permanent relief

Which method is more useful for teaching
history at primary level 7

(A)
(B)
(©)
(D)

@

(i)

(i)

Observation
Demonstration
Story telling

Project

Since the axis of the Earth remains
perpendicular to its orbit, there
occurs change of season here.

The orbit of the asteroids remains
between the orbits of the Earth and
the Mars.

The planet Uranus rotates around
its axis from West to East.

Out of the above three given statements :

(A)

(B)
©

(i) and (ii) are right and (iii) is
wrong

(ii) and (iii) are right and (i) is wrong
(iii) and (i) are wrong and (ii) is right

(D) (ii) and (iii) are wrong and (i) is right

OTET/P-1

(45)
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L) R . _ . i asts of Indj,
124. Q169Q F6AIY 60 RAGRER AGRAYFA | 124, In which of the fgnl:wmi:zoﬁmdo 7
QOZY CRHTNT is large number of lagoo
(A) @99gR (A) The Coromandel
B) esa. (B) The Konkan
© aRRe (C) The Malabar
| (D) @@al (D) The Odisha Coast
{
125. (a) QIQYEe adeceaa q?am @ 9941 | 125. (a) Study of conservation and safety of
' QAR VUK | the natural environment.
(b) <6 INIR QIGES aBsean 9 (b) Study about the responsibilities and
- QUL {08 agava QIBQ 9o edey duties of human beings towards
QAR 2GR | improving the existing natural
environment.
(c) <IIFEe 8 RERES MAUca Uagq () Study ~about the mutual
Fe0a19e aate auag | interdependence of the living world
and the non-living world.
(d) 9gee 9Gcda aema QA6 AR (d*“Study about the causes of
NG® 92IR QUS€IN I9Re 2GR | degradation of the natural
|; environment and its evil
|J consequences,
638Q QFeRIaq giefia 6@9&&-&1&1 From educational point of view, in what
ey aagatg QI0Y 390 gEe 604l gAen Séquence the above mentioned study
JQIdQ %9 7 matters should be taught to the learners
| of the primary classes ?
(A) bacd (A) bacd
(B) abed (B) abed
(C) dacb © dacb
OTET/P-I, (46)
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126. ¢ <@gl AUca FUICIRES! 94e 6Qd

gelea?

(aFe Geqlagfica casiaIngel IR
YaEHQ FINR'E 7)

SET -(D)

126. What type of question is the one given

within the brackets below ?

(What is the name of the tidal forest found
in the Ganga River delta ?)

(A) Qe Fdaias (A) Analogy type
(B) &% aeaqee (B) Fixed answer type
(C) <RTR QAL (C) Multiple choice type
(D) €8 *eeqRa (D) Open answer type
127. S6I5Q! RUNERIT UFQINN @9 §8aE | 127. Which subject is not included in social
qaGe Sriea 989 Q6T science according to Encyclopedia
Britanica ?
(A) zdaig (A) Economics
(B) SETIR (B)  Geography
(C©) <Ieae I8 (C) | Balitical Science
(D) agaenl | (D) Animal Psychology
|gcdais Qe 62adS q8aie @6ql9 | 128. For the cultivation of which of the
128. @ . caq QO G768 ZRYR cRINaANT following pairs of crops is the
sas ’ Kalbaishakhi rainfall favourable ?
(A) cen 8 IR (A) Wheat and Paddy
(B) qeﬁ G Qeal (B) Wheat and Bajra
(C) 6<ie 8 oIl (C) Jute and Tea
(D) YR8 Qe (D) Paddy and Bajra
. <
(47) (Continued)
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129. What is determined by specific answer
qeIe8 QaIard? type questions from the students ?
(A) Qeesd (A) Memory
(B) @agiari 63x (B) Presentation style
€ qes1el (C) Creativity
(D) q8s89e! (D) Argument power
130. 10 ms™! B6QGER GRAIN5kg 9gR 988 | 130. A body of mass 5 kg moving with a
@ Qg AA6Q 99 gEDIa AEIY 25 5 6@ velocity of 10 ms~! attains a velocity of
SI2AR A969A 35 ms~1 6211 29Q AFAIS - 35 ms~1! for 25 s by applying a force.
6RRe 7 What is the magnitude of the force ?
(&) 1N (&) 1N |
~(B) 2N (B) 2N
(© SN (C) 5N
(D) 10N (D) 10N
131. QIGOER 66 oA QRISE! @G Q09 || 131. When was the first struggle for
CRAQGYMI? ! indépendence organised ?
(A) 1857 (A) 1857
(B) 1920 (B) 1920
(C) 1930 (© 1930
(D) 1942 (D) 1942
132. 69610 GEIGETE AN GeL? | 132. Which is not a viral disease ?
(A) QLR (A) Swine flu
(B) QS (B) Tuberculosis
(C) Asa (C) Measles
(D) Feargral (D) Chikengunea
OTET/P-1 (48) (Continued) |



133. Q°AQI0 FEORER ACALAIEH TR = {13]1~]
Q12 FRCta aRaeI! aLs T

(A) - QUIR A1
(B) 6RIFGEN
(C) QIga®

(D) 6299 LAARIQE

134. 5@ afziens QoI 9del 6R4 4IAR
SCQIS 1919 91E2I6A NUAE FIAS AR} Y6
caITe 62?

(A) AeR-F6dl QA AR

(B) F64G-69AQCTIE 2°AUR AR

(C) QUGN AR

(D) GeQ eda ARR

135. cadc aGeed dUR Q86 §6L?

(A) adieend

SET -(D)

133. Whom are the members of the Parliament

134.

135.

owe their accountability for various
functions in the Parliamentary form of
government ?

(A) Prime Minister
(B) Lok Sabha
(C) President

(D) People of the country

Which administrative draft proposal Act
passed by British Parliament was
declared as the government of India Act
in 1919 7

(A) Mozley-Minto Reforms Act

(B) Montague - Chemsford Reforms
Act

(€) Rowlat Act

(D) Pitts India Act

Which is not a method of environment
education ?

(A) Observation

(B) Q6488 (B) Analysis
(C) QmBIRad (C) Conclusion
(D) agalv (D) Presumption’

OTET/P-1

(49)
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136. P,Q,® clden @6ee 86T 9e* wgsa | 136. P, Q, is the formula of .n compound and
qQ° y=2 ¢4, 696Q AUIQFa CLINNEA and y=2, what is the formula of the
Qe @67 fluoride of the metal ?

(A) P,F, (A) PrFy
(B) P3F, (B) F3F,
(©) PF, (C) PF,
(D) P;F (D) F,F
137. 6@8 997 0@ gee? 137. Which statement is not correct ?
(A) 6RIRQARIR QAI'ARAIE TUIARY (A) Members of the Lok Sabha are
CRINAIGE QIR AT g2 1 elected directly by the people.
(B) QIGAT ERIRANIG A AR AIRE L6l (B) President is elected by the members
adIee ¢28 | of the Lok Sabha.
(C) JUIR QAN AYFIEE €% gedaa (€) Members of the Legislative
CRICES QI 89I0e {28 | Assemblies are elected by the voters
) of that state.
(D) 6RURANIA QISP 6RINANIQ AIPAT (D) Speaker of the Lok Sabha is elected
QeI FAISe ga8 | by the members of Lok Sabha.
138. FIG0gER 60@ ad QIoI QEGH @diaiaa? | 138. By which colour is agricultural land
depicted on the map ?
(A) qigal (A) Brown
(B) @1 (B) Blue
(C) <g® (€) Green
(D) @7 (D) Yellow
OTET/P-I (50)

(Continued)



A e
pe r.\-?.,- bTY

SET -(D)

139. F6qIg a6l QIGER GREA AR 7 139. Which of the following is the tallest of the

dams in India ?
A) =u-l (A) Bhakra
(B) 6QINQI (B) Koyena
(C) eaa (C) Pong
(D) eoseat (D) Tehri

140. gQI QQIg 2 ms—2 AAYAEER 9T @QARI | 140. Starting from rest and moving with a

200 gIF1Q 9@ §) AAIBR AAESR AR 6968 uniform acceleration of 2 ms~2 on a
Q00! 269 *QQl a6a 10 ] 66 48 919 horizontal plain ground, how much
6297 UFRFY 6a §AFa ada eaay distance a ball of 200 gram would cover
aee ? to have 10 J kinetic energy ?

(A) 25m (A) 25m

(B) 40m (B) 40m

(C) 50m (€) S0m

(D) 60m (D) 60.m

Which of the following types of projects,
as per_the opinion of William H.
Kilpatrick, does help in knowledge

141. GRaa <0, FRAGes N6 BgaIEa RS | 141
¢ed yaga gag d8id AREQ WL,
Geaea ALINe eIRed?

building of the students ?
(A) eeIge (A) Artistic
(B) @ORIGR (B) Constructive
(C) @R (C) Group

(D) Problematic

(D) QAUIFRR

caled giea cEede SITAIBIER a@eseg | 142. Which type of graph is most suitable for

142. cdiaql aid ¢ad gaIa 6a¢de 2301 depicting the day-to-day variation in
Qaeaial ? temperature of a place ?
&) (A) Columnar
o (B) Circular
© o8ae (C) Linear
o) 380 (D) Pictorial
(51) (Continued)
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143.

144.

(a) CTERE ZRIAR @' QIBR NER QXA |

ge 698 2Uae Q' S840 QI6Q
2RISR @9 |

(b)
(c) OF6ed 2UAR V'€ ACHAER 6N |

Q06Qd ZRIAF AARER I8 IR
6cod |

(d)
688Q RIS UBEgNIER QUEAIY AU
(A) (b) 6 (d) OR 9e° (a) 8 () AN

(B) (a) (b) 8(d)OR & (c) IR

© (@) ). ()8 (d)OR
(D) (a). (B). (c) B (d) QW

6Qad SCIAR - D ANNSRE 6Ua?
(A) a§eqaieRazl

143.

seT -(D)

(@) Explain  briefly what s
Environmental study.

() Discuss in detail what is
Environmental study.

(c) Writebriefly whatis Environmental
study.

(d) Write a note about Environmental

study.
In the context of educational evaluation,
from the above.
(A) (b) & (d) are correct and (a) & (c)
are wrong.
(a), (b) & (d) are correct and (c) is
wrong.

(B)

(©)
(D)

(a), (b), (c) & (d) are correct.
(a). (). () & (d) are wrong,

144. Whichlis Vitamin - D deficiency disease ?
(A)“Osteomalacia

B <& (B) Scurvy
(C) aRNQE (C) Nightblindness
(D) 6e@6ed (D) Beriberi
145. 694 gRIQ @ HIIER AF0IQ 2@ 63 BR? | 145. Which is the type of food having
maximum energy ?
(A) €ged (A) Carbohydrate
B 8% (B) Protein
(C) €92QR (C) Fat
(D) #1929 (D) Vitamin
OTET/P-1 (52) (Continued)



146. R190Q F6qI9 2BRgFe Aug cedden

147. AINQIQE IAIVEQ 608 AWET CQIgE

148. (a)

Q01 @A AIfe Q§AIe caIRa?
(A) @979 QaRe

(B)
(C) @f 2aga
(D) QB Aegm

RIf 990 cga1

ARUE AR GATEG 9Fe A6a?
(A)
(B)
©)

cRueI
S4ae!
(LIRS
(D) <QgFgeI

dae 6 dalEh QI AGAIS |

JdQIQIR 6 g8 e AR
QI8 |

(b)

(c) dmiEh Aeea 86 SAeIe AIg! |

d) 9 AIRSa AR IGQ AIgl

giafie SMIRO gFesa a8r AIRA AAIRIR
8 396 Fiia AU6RIg AIY 6RR AT AAYS
aege?

SET-(D)

146. Which among the following areas in India

147.

148.

_(a)

does receive the lowest annual rainfall ?

(A) The Coromandal Coast

(B)
©
(D)

The Jammu Hills
The Kutchh Peninsula
The Ranchi Plateau

Which criterion of the standardised test
refers to consistency of test scorers ?

(A) Validity

(B)
(C) Usability

Reliability

(D) Objectivity

The ratio of the number of teachers
and. the number of learners.

Favourable Teaching and Learning
environment.

(b).

The degree of learning capacity of
the learners.

(©)

(d) The degree of teaching efficiency of
- the teachers.

Which sequence of the above is most

effective for the optimum success of the

teaching and learning process ?

(A) abcd (A) abed
(B) badc (B) bﬂdc
(C) cdba (C) cdba
(D) dcab (D) dcab
OTET/P-I (53) (Continued)
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149. 696% ZMAIRS 0I &7 7 149. Which is different from others ?
(A) 6Qg (A) Apple
(B) <o (B) Banana
©) erdd (C) Cinnamon
(D) age (D) Grape
150. 699 Q0g2 1975 9GQ 19 6@ ALNIEGG | 150. Which satellite was sent to space on
aoIIgQI ? 19 April 1975 ?
(A) aidiee (A) Aryabhatta
® aee (B) Apple
(C) sesaqq! (C) Jerelina
(D) <k gaa (D) . Bhaskar I
-000- | Dbl
OTET/P (54) (Contirued)
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